Math 2  







Name: ______________________

Mod 3 Day 2







Date: ____________ Period: ____

Roots and Fractional Exponents
1. Rewrite each without the fractional exponent.
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2. Write the following roots as fractional exponents.
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3.  Rewrite each without the fractional exponent.
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4. Write the following roots as fractional exponents.
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5. Simplify
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6.   Solve for the variable.  Be sure to give the exact and approximate answers.
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	7.  Solve for x.  Be sure to give the exact and approximate answers.
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	8. Write the quadratic in the other form.
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Vertex Form:

Factored Form:
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Standard Form:
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Vertex Form:

Factored Form:
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Standard Form:
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Vertex Form:

Factored Form:
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Standard Form:



M3D2


p. 1 of 2

_1253595162.unknown

_1253624827.unknown

_1348334498.unknown

_1538566371.unknown

_1538566618.unknown

_1538568297.unknown

_1538568312.unknown

_1538567320.unknown

_1538566512.unknown

_1348459250.unknown

_1348891210.unknown

_1348371815.unknown

_1348334115.unknown

_1348334496.unknown

_1348334497.unknown

_1348334180.unknown

_1254116088.unknown

_1255263629.unknown

_1348334038.unknown

_1254116118.unknown

_1255263487.unknown

_1254116028.unknown

_1254116045.unknown

_1254116072.unknown

_1253624835.unknown

_1253624462.unknown

_1253624757.unknown

_1253624818.unknown

_1253624748.unknown

_1253595197.unknown

_1253595416.unknown

_1253595508.unknown

_1253596042.unknown

_1253595439.unknown

_1253595382.unknown

_1253595173.unknown

_1253592662.unknown

_1253592682.unknown

_1253592689.unknown

_1253592673.unknown

_1253592436.unknown

_1253592453.unknown

_1253592423.unknown

